KOLAR Document ID: 1416067

Confidentiality Requested:

Yes No

#### Kansas Corporation Commission Oil & Gas Conservation Division

Form ACO-1
January 2018
Form must be Typed
Form must be Signed
All blanks must be Filled

# WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No.:
Name:	Spot Description:
Address 1:	
Address 2:	Feet from North / South Line of Section
City: State: Zip:	_+ Feet from
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	NE NW SE SW
CONTRACTOR: License #	
Name:	(e.g. xx.xxxxx) (e.gxxx.xxxxxx)
Wellsite Geologist:	
Purchaser:	
Designate Type of Completion:	Lease Name: Well #:
New Well Re-Entry Workove	Field Name:
☐ Oil ☐ WSW ☐ SWD	Producing Formation:
Gas DH EOR	Elevation: Ground: Kelly Bushing:
	Total Vertical Depth: Plug Back Total Depth:
CM (Coal Bed Methane)	Amount of Surface Pipe Set and Cemented at: Feet
Cathodic Other (Core, Expl., etc.):	Multiple Stage Cementing Collar Used?
If Workover/Re-entry: Old Well Info as follows:	If yes, show depth set: Feet
Operator:	If Alternate II completion, cement circulated from:
Well Name:	feet depth to:w/sx cmt.
Original Comp. Date: Original Total Depth:	
	nv. to SWD Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Committee Downsit #	Chloride content:ppm Fluid volume: bbls
□ Commingled Permit #:     □ Dual Completion Permit #:	Dewatering method used:
SWD Permit #:	
EOR Permit #:	
GSW Permit #:	Operator Name:
	Lease Name: License #:
Spud Date or Date Reached TD Completion	Date or Quarter Sec. Twp. S. R. East West
Recompletion Date  Bate Reached 1D  Completion  Recompletion	

#### **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

**Submitted Electronically** 

KCC Office Use ONLY				
Confidentiality Requested				
Date:				
Confidential Release Date:				
Wireline Log Received Drill Stem Tests Received				
Geologist Report / Mud Logs Received				
UIC Distribution				
ALT I II III Approved by: Date:				

KOLAR Document ID: 1416067

#### Page Two

Operator Name:					Lease Nam	ne:			Well #:	
Sec Tw	pS. F	R [	East	West	County:					
open and closed and flow rates if	, flowing and sh gas to surface t ty Log, Final Lo	nut-in pressurest, along wit	es, whe h final c ain Geo	ther shut-in pre hart(s). Attach physical Data a	essure reached extra sheet if r and Final Electr	station more : ric Loc	level, hydrosta space is needed	tic pressures, d.	bottom hole tempe	val tested, time tool erature, fluid recovery,  Digital electronic log
Drill Stem Tests (Attach Addit			Ye	es No		Lo	og Formatio	n (Top), Deptl	n and Datum	Sample
Samples Sent to	Geological Sur	vey	Ye	es 🗌 No		Name	)		Тор	Datum
Cores Taken Electric Log Run Geologist Repor List All E. Logs F	t / Mud Logs		Y€  Y€	es No						
			Repo		RECORD [	Nev	w Used rmediate, producti	on. etc.		
Purpose of St		ze Hole Orilled	Siz	e Casing (In O.D.)	Weight Lbs. / Ft.		Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
				ADDITIONAL	OF MENTING /					
Purpose:	[	Depth	Typo		# Sacks Use		EEZE RECORD	Typo a	ad Paraant Additivas	
Perforate Protect Casing Plug Back TD		Type of Cement # Sacks Us		d Type and Percent Additives						
Plug Off Z										
Did you perform     Does the volum     Was the hydraul	e of the total base	fluid of the hyd	draulic fra	cturing treatmen		•	Yes ns? Yes	No (If No	, skip questions 2 an , skip question 3) , fill out Page Three o	,
Date of first Produ	ction/Injection or	Resumed Produ	uction/	Producing Meth			Coolift 0	thor (Fundain)		
Estimated Produc	otion	Oil Bb	le.	Flowing Gas	Pumping  Mcf	Wate		ther <i>(Explain)</i> bls.	Gas-Oil Ratio	Gravity
Per 24 Hours		Oli Bb	15.	Gas	IVICI	vvale	ı Di	JIS.	Gas-Oil Hallo	Gravity
DISPOSITION OF GAS: METHOD OF COMPLETION: PRODUCTION INTERVAL:					N INTERVAL:					
Vented	Sold Use	d on Lease		Open Hole		Dually		nmingled	Тор	Bottom
(If vente	ed, Submit ACO-18	.)			(5	SUDITIIL I	ACO-5) (Subi	mit ACO-4)		
Shots Per Foot	Perforation Top	Perforation Bottom	on	Bridge Plug Type	Bridge Plug Set At		Acid,		Cementing Squeeze Kind of Material Used)	Record
TUBING RECOR	D: Size:		Set At:		Packer At:					

Form	ACO1 - Well Completion		
Operator	Merit Energy Company, LLC		
Well Name	JACQUART 2		
Doc ID	1416067		

# All Electric Logs Run

ANNULAR HOLE VOLUME
ARRAY COMPENSATED TRUE RESISTIVITY LOG
ARRAY COMPENSATED TRUE RESISTIVITY LOG 1
ARRAY COMPENSATED TRUE RESISTIVITY LOG 2
BOREHOLE COMPENSATED SONIC ARRAY LOG
DUAL SPACED NEUTRON SPECTRAL DENSITY LOG
MICROLOG
QUAD COMBO LOG

Form	ACO1 - Well Completion		
Operator	Merit Energy Company, LLC		
Well Name	JACQUART 2		
Doc ID	1416067		

# Tops

Name	Тор	Datum
Heebner	4052	
Toronto	4070	
Lansing	4151	
Kansas City	4554	
Marmaton	4709	
Pawnee	4817	
Cherokee	4869	
Atoka Lime	5034	
Morrow	5203	
Morrow Lime	5250	
Morrow Sands	5312	
L Morrow Sans	5362	
Chester Lime	5401	
Basal Chester SS	5445	
St Genevieve	5512	
St Louis	5550	
Spergen	5678	

Form	ACO1 - Well Completion		
Operator	Merit Energy Company, LLC		
Well Name	JACQUART 2		
Doc ID	1416067		

### Perforations

Shots Per Foot	Perforation Top	Perforation Bottom	BridgePlugTyp e	BridgePlugSet At	Material Record
4	5488	5500			Chester- Acid:47.6 bbls 7.5% acid 30 bio balls, 32 bbls 2% KCL flush
			CIBP Cast Iron Bridge Plug	5480	
4	5338	5344			Morrow Sands- Frac:560 bbls, total x-frac 427 bbls, total L-frac 133, total 16/30 white 60,237 lbs, total N2 1002,000 SCF
4	5349	5359			" " " "
4	5387	5392			" " " "
			CIBP Cast Iron Bridge Plug	5334	

Form	ACO1 - Well Completion		
Operator	Merit Energy Company, LLC		
Well Name	JACQUART 2		
Doc ID	1416067		

### Perforations

Shots Per Foot	Perforation Top	Perforation Bottom	BridgePlugTyp e	BridgePlugSet At	Material Record
4	5273	5284			Morrow Lime - Frac: 1686 bbls, total 40/70 white, total 16/30 r/c
4	5298	5302			
4	5305	5307			

Form	ACO1 - Well Completion		
Operator	Merit Energy Company, LLC		
Well Name	JACQUART 2		
Doc ID	1416067		

### Casing

Purpose Of String	Size Hole Drilled	Size Casing Set	Weight		Type Of Cement		Type and Percent Additives
Surface	12.25	8.625	24	1704	Class A	630	See Attached
Production	7.875	5.5	17	5624	Class A	185	See Attached

### **FIELD TICKET**

Client

**MERIT ENERGY COMPANY** 

Well

Jacquart 2

Job Description

Surface

Date

March 22, 2018

BJ

Field Ticket # FT-04944-N3W4R80202-58117

#### **MATERIALS**

Product Code	Description	иом	Quantity	Līst Price	Gross Amount	Disc (%)	Net Amount
L100112	ACCELERATOR, SALT, CHLORIDE, CALCIUM, A-7P, PELLETS	LB	1,613.0000	\$2.40	\$3,871.20	76.00	\$929.09
L100318	CEMENT EXTENDER, GYPSUM, A-10	LB	856.0000	\$0.72	\$616.32	76.00	\$147.92
L100275	CEMENT EXTENDER, SODIUM METASILICATE A-2 ANHYDROUS	LB	856.0000	\$3.28	\$2,807.68	76.00	\$673.84
L013156	Cement Nose, 8-5/8 in.	EA	1.0000	\$460.00	\$460.00	76.00	\$110.40
L488168	CEMENT, ASTM TYPE I	SK	630.0000	\$44.11	\$27,789.30	76.00	\$6,669.43
L017068	CENTRALIZER,8-5/8"NON- WELD	EA	10.0000	\$246.40	\$2,464.00	76.00	\$591.36
L100120	EXTENDER, BENTONITE	LB	1,711.0000	\$2.08	\$3,558.88	76.00	\$854.13
L015399	Float collars with poppet valve, 8 5/8 in.	EA	1.0000	\$1,258.00	\$1,258.00	76.00	\$301.92
L488701	IntegraGuard STAR II concentrate	LB	400.0000	\$34.40	\$13,760.00	76.00	\$3,302.40
L488521	IntegraGuard STAR PLUS	LB	300.0000	\$5.84	\$1,752.00	76.00	\$420.48
L100295	integraSeal CELLO	LB	315.0000	\$5.76	\$1,814.40	76.00	\$435.46
L415082	IntegraSeal KOL	LB	2,275.0000	\$1.20	\$2,730.00	76.00	\$655.20
L86718	PLUG,CEMENT 8.6 TOP BJPL	EA	1.0000	\$287.04	\$287.04	76.00	\$68.89
L100404	SALT, SODIUM CHLORIDE, A-5	LB	1,103.0000	\$1.04	\$1,147.12	76.00	\$275.31
1000101	THREAD LOCK, 8-5/8 IN.	EA	3.0000	\$220.00	\$660.00	76.00	\$158.40
		5	Product Materi	al Subtotal:	\$64,975.94		\$15,594.23

#### **SERVICES**

Product Code	Description	uom	Quantity	List Price	Gross Amount	Disc (%)	Net Amount
S-100004	Cement Crew Mobilization- Demobilizaton Fee	EA	1.00	\$10,880.00	\$10,880.000	91.00	\$979.200
S-100475	Cement head	EA	1.00	\$2,656.00	\$2,656.000	91.00	\$239.040
S-100049	Cement pump charge,	4/HR	1.00	\$4,680.00	\$4,680.000	91.00	\$421.200

# **Cementing Treatment**



pressure test the lines to 1500PSI
20bbl spacer of stop loss
208bbl lead cement @ 12.10#
39bbl tail cement @ 15.20#
shut down
drop the top plug
105bbl displacement (wash up on top of the plug)
@55bbl slow rate down to 2bpm to land the
plug the whole job to be pumped @5bpm
5et @1704

### **FIELD TICKET**

Client

**MERIT ENERGY COMPANY** 

Well

Jacquart 2

Job Description

on Long String

Date

March 27, 2018

BJ

Field Ticket # FT-04911-H851J60202-73469

**MATERIALS** 

Product Code	Description	MOU	Quantity	List Price	Gross Amount	Disc (%)	Net Amount
L100318	CEMENT EXTENDER, GYPSUM, A-10	LB	1,326.0000	\$0.72	\$954.72	78.00	\$210.04
L013152	Cement Nose, 5-1/2 in.	EA	1.0000	\$561.00	\$561.00	78.00	\$123.42
L488168	CEMENT, ASTM TYPE I	SK	235.0000	\$44.11	\$10,365.85	78.00	\$2,280.49
L017064	CENTRALIZER,5-1/2"NON- WELD	EA	15.0000	\$193.05	\$2,895.75	78.00	\$637.07
20000018	CFL-210	LB	111.0000	\$22.72	\$2,521.92	78.00	\$554.82
L100120	EXTENDER, BENTONITE	LB	442.0000	\$2.08	\$919.36	78.00	\$202.26
L015395	FLOAT COLLAR,CEM,5- 1/2*K55	EA	1.0000	\$1,243.00	\$1,243.00	78.00	\$273.46
L101196	Foam Preventer, FP-25	LB	45.0000	\$14.52	\$653.40	78.00	\$143.75
L488735	IntegraGuard ULTRA CONCENTRATE	GAL	12.0000	\$159.60	\$1,915.20	78.00	\$421.34
L100295	IntegraSeal CELLO	LB	59.0000	\$5.76	\$339.84	78.00	\$74.77
L415082	IntegraSeal KOL	LB	1,175.0000	\$1.20	\$1,410.00	78.00	\$310.20
L86710	PLUG,CEMENT 5.5 TOP BJPL	EA	1.0000	\$1,026.48	\$1,026.48	78.00	\$225.83
L100404	SALT,SODIUM CHLORIDE, A-5	LB	1,876.0000	\$1.04	\$1,951.04	78.00	\$429.23
			Product Materia	al Subtotal:	\$26,757.56		\$5,886.68

#### **SERVICES**

Product Code	Description	UOM	Quantity	List Price	Gross Amount	Disc (%)	Net Amount
S-100004	Cement Crew Mobilization- Demobilization Fee	EA	1.00	\$10,880.00	\$10,880.000	92.00	\$870.400
S-100475	Cement head	EA	1.00	\$2,656.00	\$2,656.000	92.00	\$212.480
S-100053	Cement pump charge, 5,001-6,000 feet/1,501 - 1,800 m	6/HR	1.00	\$7,032.00	\$7,032.000	92.00	\$562.560
S-100066	Cement pump charge, Additional Hours	HR	0.00	#Error	\$0.000	92.00	\$0.000
S-100001	Mileage - vehicle heavy	MI	50.00	\$18.96	\$948.000	92.00	\$75.840

### **Cementing Treatment**



#### **COMMENTS**

#### **Treatment Report**

20bbls of super flush 17bbls of rat and mouse hole 63bbls of long string cement 129bbls of displacement .

Set @ 5624

50sx RH

#### **Job Summary**

arrive at location, spot trucks, rig up, safety meeting, pressure test lines at 2500psi, pump 20bbis of super flush pump cement to fill out rat and mouse hole with 17bbls from 50sacks at 13.6lbs, pump 63bbis of cement from 185sacks at 13.6lbs, drop plug/ wash pump and lines to pit, start displacement with 129bbls of kcl water. bump plug/check if float holds and rig down.